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Linearized knot diagam
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\/(7“\ 4 8 1 2 11 9 10 3 7 5 6
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/i

9" 11
l

Solving Sequence
1\/

28H3%5910+11?47»1?7?6%03,65,09,011
A knot d1agranﬂ 10 4 ! 7 6

Ideals for irreducible component#ﬂ)f Xpar

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter].


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I = (—9u” 4+ 12u® + 5u° — 62u* + 26u® — 24u® + 92d — 64u + 16,
5u” 4 u® — 13u® + 37ut 4 6u> — 48u? + 92¢ + 56u + 32,
—3u” + 4u8 — 6u® — 13u* + 24u® — 8u? + 46b — 6u — 10,
4u” — 13u8 + 8u® + 25ut — T8u® + 26u® + 92a + Su — 48, u® —u” — ub + 5ud — 4ut + 8u® + du — 4)
I = (—2u" + 3u° 4 2u® — 2u™ — 2u5 — w® — 10u* + 21u® — 16u? + 4d + 10u,
—u7—|—2u5+u4—u3—u2+20—4u+2,
—2ut® 4+ 20° 4+ 3u® — 20" — 208 + 2u° — 9ut + 1203 — Tu? 4 4b + 2,
2ut? — 3u® — 3u® + 4u” + 2u® — 3u® + 9ut — 1503 + 11u® + 4a — 6,
utt — 200 —u? + 30+ u” — 208 + 4w — 11ut + 9u® — u? — 2u +2)
1= (u'® —u® — 2u® +ub +ud + Tut = Tud 20 4+ 4d — 2u — 4, w0 — 3u® 4 3uS + 2ut — 2u® — 3u® + 4c + 6u -
u® — 208 — ud + ut + ud + 4u® + 20 — 2u,
—2u® + 3u® + 20" — 2u® — 2u° — u* — 10u® + 214u® 4 4a — 16u + 10,
u't — 200 — w4+ 3u® " — 208+ 4u® — 11wt + 9uP — u? — 2u 4 2)
I = (u'® —u® = 2u® +ub +ud et — Tud 20+ 4d — 2u — 4, u' — 3u® 4 3u8 + 2ut — 2u® — 3u® + dc+ 6u -
— 200 + 20° + 3u® — 20" — 20 + 2u® — 9ut + 1203 — Tu + 4b + 2,
20 — 30 — 3u® + 4u” + 2u8 — 3u® + 9ut — 150 + 11u? + 4a — 6,
utt — 200 —uf + 3u® 4 u” — 208 + 4w — 11ut + 9u® — u? — 2u + 2)
IV =(-d*c—cat+d—a—1, —a*c+c? —ca—a—1,a*+b+a, a®+2a* +a+1, u+1)

I={a,d, c+1,b—1, v+1)
I={(,d+1,ba—1 v+1)
I{={(a,d+1,c+a, b—1,v+1)
Iy={(a,da—c+1l,dv—1, cv—a—wv, b—1)

* 8 irreducible components of dim¢ = 0, with total 50 representations.
* 1 irreducible components of dim¢ = 1

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI =(—9u" +12u® + ... +92d 4 16, 5u” + u® + .-+ + 92¢c + 32, —3u” +
4u8 + .-+ 4+46b — 10, 4u” — 13u® +--- +92a — 48, u® —u" + .-+ 4u —4)

(i) Arc colorings

- )

(1)
1
a3 == u
—0.0434783u" 4 0.141304u° + - - - — 0.0869565u + 0.521739
as = 0.0652174u™ — 0.0869565u’ + - - - + 0.130435u + 0.217391
- ( o)
—0.0543478u" — 0.0108696uS + - - - — 0.608696u — 0.347826
0.0978261u" — 0.130435u8 + - - - + 0.695652u — 0.173913
—0.108696u" — 0.0217391uS + - - - — 0.217391u — 0.695652
0.173913u” — 0.0652174u’ + - - - 4 0.347826u — 0.0869565
0.0217391u” + 0.0543478u’ + - - - 4 0.0434783u + 0.739130
ag =\ 0.0652174u" — 0.0869565u8 + - - - + 0.130435u + 0.217391
0.0217391u” + 0.0543478u’ + - - - 4 0.0434783u + 0.739130
a1 = \0.0760870u" + 0.0652174u’ + - - - — 0.347826u + 0.0869565
—0.0217391u" — 0.0543478u’ + - - — 0.0434783u + 0.260870
ar = \ —0.0652174u" + 0.0869565ub + - - - + 0.869565u — 0.217391
—0.0434783u" + 0.141304u° + -+ —0.0869565u + 0.521739
as = \ 0.0652174u” — 0.0869565u’ + - - - + 0.130435u + 0.217391
—0.0434783u” + 0.141304uS + - - - — 0.0869565u + 0.521739
as = \ 0.0652174u” — 0.0869565u’ + - - - + 0.130435u + 0.217391
(ii) Obstruction class = —1

1 2 11 11 1 4
(iii) Cusp Shapes = ﬁlﬁ - %Uﬁ + 2§u5 2—u4 23u + 230u2 2336u 3233



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,€3,C4
8 7 6 5 4 3 2
Cs, o, Cr u® —u' —d5u’ +4u’ +8u” —3u” —3u” —4u—1
C9, 10, C11
Co,C8 w + 4" —ub —5ud —dut +8u® —4du—4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

€1,€3,C4

cs, e, Cr y® — 11y" 4+ 49y° — 108y° + 108y* — 159> — 313> — 10y + 1
C9, 10, C11

c2,C8 y® —3y" + 3y° — ¢° — 963> + 96y* — 80y + 16




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + v/=1CS)

Cusp shape

u = —0.763708 4 0.4649061
a= 0.494536 4 0.9093421
b= 10.186694 — 0.5777061
c= 0.514343 — 0.4433441
d = —0.800440 — 0.4645591

1.02858 + 1.923891

—7.30727 — 5.938061

u = —0.763708 — 0.4649061
a= 0.494536 — 0.9093421
b= 0.186694 + 0.5777061
c= 0.514343 4 0.4433441
d = —0.800440 + 0.4645591

1.02858 — 1.923891

—7.30727 + 5.938061

0.50215 + 1.400471
a = —1.123050 + 0.2783291
b= 1.51678 —0.240681
c=—0.191820 + 1.0142701
d = —0.95373 — 1.433031

u =

—13.1698 + 5.89771

—19.7832 — 3.06931

u= 0.50215 — 1.400471
a = —1.123050 — 0.2783291
b= 1.51678 + 0.240681
c=—0.191820 — 1.0142701
d = —0.95373 + 1.433031

—13.1698 — 5.89771

—19.7832 + 3.06931

u= 0.509938
a= 0.497054
b= 0.282608
c = —0.554200
d= 0.253467

—0.633408

—16.3410

1.37290 + 0.820841
a= 0.288086 + 1.350870I
b= —1.50879 — 0.397411
0.937075 — 0.270804.1
d=—0.71334 + 2.091071

u =

CcC =

—16.0437 — 13.72041

—19.7312 4 6.72831




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

w=1.37290 — 0.82084]

b= —1.50879 + 0.397411

CcC =

d=—-0.71334 — 2.091071

0.288086 — 1.3508701

0.937075 + 0.2708041

—16.0437 + 13.72041

—19.7312 — 6.72831

u = —1.73262
= 0.183795
b= -1.67197 17.5248 —22.0160
c = —0.964994
d = —0.318446




II. 1Y = (—2u'® +3u® + -+ - + 4d + 10u, —u” +2u® + .-+ +2c+ 2, —2u' +
2u% + - +4b+2, 20 —3u? +--- +4a -6, u't — 200 + ... — 2u + 2)

(i) Arc colorings

az =
—éum-i-%ug—k o= dly2 43
a5 = 1,10 _ 1,9 o472 1
5 U U™+t gqu 2
—u
ag = \—u3+u

T — w4+ et 4 3u—1
an = %ulo — %ug 4+ 4 %uQ —2u
%ug—lézﬂ—&—-- —u?+1

ag= (1,00 L0 . 7,2 1
4 2 gU” + Ut — g
iugf%u7+~ —u?+1

a1 = (149 1,7 4. 1,241
1 U u’ + SU° + 35U
—%ulo—l—gug—k +%u+1

a7 = ulo_%u9+ —u—%
— 04 300 4 Lyt 1

ag = L9 L8y 1
6 su” + zu® + 2u+ 3
(—%u10+2u9+-~ +%u+1

ag = _ 1,9 1,8 . 1
6 su” + u® + 2u+ 3

(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u'® — 6u® — 2u” + 6uS + 4u® + 8u* — 8u® — 10u? + 8u — 16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,€3, €4 ult — 2010 — 44® + 8uB 4+ 6u” — 8u® — T’ — 2ut + TP + 3 —u+1
Cs5,C10, C11
Co,C8 w2010 — 0 — 308 + 0" + 208 + 4w’ + 11wt + 9P+ — 2u—2
Cg, C7, Co ut = 3u® — 208 4+ 30" + 4ub — 20t —ud + 3u% — 4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C3,C4 ytt—1290 4+ 5y —1
€5, €10, C11
o, C8 y11_6y10++8y_4
C6,C7, C9 y11 —6y10+~~-+24y—16

10



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

—0.217339 4 1.1168601

—0.959694 — 0.1216091
1.379210 + 0.1033811
0.530848 — 0.5771221

—2.14358 + 0.936121

U
a
b

—6.49548 — 2.418921

—16.9282 + 2.88951

—0.217339 — 1.1168601

= —0.959694 + 0.1216091
1.379210 — 0.1033811
0.530848 + 0.5771221

—2.14358 — 0.936121

—6.49548 + 2.418921

—16.9282 — 2.88951

1.116820 + 0.4049511
0.142488 — 1.0957101
0.399448 4 0.7898471
1.146260 — 0.2418157
—1.31237 + 1.127401

—3.96110 — 4.697421

—14.9188 + 5.88321

1.116820 — 0.4049511
0.142488 4+ 1.0957101
0.399448 — 0.7898471
1.146260 + 0.2418151
—1.31237 — 1.127401

—3.96110 + 4.697421

—14.9188 — 5.88321

0.323694 + 0.5835101
1.18678 — 0.806971
—0.172742 + 0.3625561

—0.63939 4 1.572881
—0.309250 — 0.3290551

—1.55892 + 0.741961

—8.46073 — 1.119091

0.323694 — 0.5835101
1.18678 + 0.806971
= —0.172742 — 0.3625561
c= —0.63939 — 1.572881
d = —0.309250 + 0.3290551

c
d
U
a
b
¢
d
U
a
b
c
d
U
a
b
c
d
U
a
b
c
d
U
a
b

—1.55892 — 0.741961

—8.46073 + 1.119091
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Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

u= 1.38823+ 0.367431
a = —0.243517 + 0.7797381
b= —1.50982 — 0.175651
c = —0.526224 + 0.6956761
d=—1.10814 + 1.106741

—11.90560 — 2.584511

—20.1919 + 1.01661

u= 1.38823 —0.367431
a = —0.243517 — 0.7797381
b= —1.50982 + 0.175651
—0.526224 — 0.6956761
—1.10814 — 1.106741

—11.90560 + 2.584511

—20.1919 — 1.01661

= —0.552641

= —0.218260
0.780044

—2.03993
3.71662

—4.41605

—21.4290

—1.33508 + 0.612201
= —0.016930 — 1.2077301
—1.48612 + 0.295151

0.508471 — 0.5207291
d = —0.98497 — 1.742741

c
d
u
a
b
c
d
U
a
b

c

—10.05940 + 8.651151

—17.7857 — 5.57891

u = —1.33508 — 0.612207
a = —0.016930 + 1.2077301
b= —1.48612 — 0.295151
c= 0.508471 + 0.5207291
d = —0.98497 + 1.742741

—10.05940 — 8.651151

—17.7857 + 5.57891
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L I = (u® —w? + .- +4d—4, u'® —3u® 4+ .- - +4c— 2, u® —2u® +-.- +
2b — 2u, —2u® +3ud + .- +4a + 10, u't — 200 + ... — 2u + 2)

(i) Arc colorings

o ()

0
ag = u
1
a3: u2
%ug—%u8+-~-+4u—%
as = —%ug—i—uﬁ—i— =2+
-1
ag = \ —ud +u
1,10 4 3,8 3 1
SRR R
ao =\ —dyrop Lyo oo Ty 41
<§u9+u8+~ gu+2>
ai = 1
%ug—gug—k-- —|—5u—g
a4 = —%u8+u6—|—-~ —2u? +u
b 30 S ]
a) = _iulo_i_%us_’__.__’_u?)_l
1,8 1 1,6 1 1
TqW R U gy
ar = %u5—%u3—§u2+u
1,10 _ 1,9 3
U — =Uu + ._|_u_7
ag = (%ulo_%ug)_f_ ._|_u_%>
2 2 2
20— L9y — 2
w (T T 0T )
(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u'® — 6u® — 2u” + 6uS + 4u® + Su* — 8u® — 10u? + Su — 16
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4 u =30 — 208 + 307 + 48 — 20t — w4+ 3u? — 4
Co,C8 ut + 2010 — 0w — 30 +u” 208 + 4’ + 11wt 9+ —2u—2
€5, €6, C7 ult — 200 — 40® + 8u® 4+ 6u” — 8ub — Tu® — 2ut + TuP + 3w —u+1
C9, €10, C11

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C3,C4 y't =6y + 24y — 16
C2,C8 y't =6y 8y —4
C5,Ce, C7 y11*12y10+"'*5y*1
C9, €10, C11

15



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

—0.217339 4 1.1168601
1.16746 + 1.692111
—0.529187 — 0.7183111
0.142356 + 1.2072001
0.344399 — 1.0454101

U
a
b

—6.49548 — 2.418921

—16.9282 + 2.88951

—0.217339 — 1.1168601

= 1.16746 — 1.692111

—0.529187 + 0.7183111
0.142356 — 1.2072001
0.344399 + 1.0454101

—6.49548 + 2.418921

—16.9282 — 2.88951

1.116820 + 0.4049511
—0.71505 + 1.268751
—1.378090 — 0.1941141
—0.542743 — 0.5104321

0.602844 — 1.1660201

—3.96110 — 4.697421

—14.9188 + 5.88321

1.116820 — 0.4049511
—0.71505 — 1.268751
—1.378090 + 0.1941141
—0.542743 4 0.5104321

0.602844 + 1.1660201

—3.96110 + 4.697421

—14.9188 — 5.88321

0.323694 + 0.5835101
—0.656040 + 0.166054.1
1.124760 — 0.1360431
—0.349546 — 0.4899451
0.855030 + 0.4312881

—1.55892 + 0.741961

—8.46073 — 1.119091

0.323694 — 0.5835101
—0.656040 — 0.1660541
1.124760 + 0.1360431
¢ = —0.349546 + 0.4899451
d=0.855030 — 0.4312881

c
d
U
a

b

¢

d
U
a

b

c
d
U
a

b

c
d
U
a

b

c
d
U
a

b

—1.55892 — 0.741961

—8.46073 + 1.119091
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Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

u= 1.38823+ 0.367431

a = —0.548785 4 0.9424871
b= 0.986131 — 0.7724041
c= 1.047690 — 0.1507691
d = —0.624556 + 0.9929771

—11.90560 — 2.584511

—20.1919 + 1.01661

u= 1.38823 —0.367431

a = —0.548785 — 0.9424871

b= 0.986131 + 0.7724041
1.047690 + 0.1507691

—0.624556 — 0.9929771

—11.90560 + 2.584511

—20.1919 — 1.01661

= —0.552641

= —6.72520

—1.12735
1.41149
0.120619

—4.41605

—21.4290

—1.33508 + 0.612201
0.115017 + 1.3580801
0.360061 — 1.0065001

¢ = —1.003500 — 0.2390811

d 0.76197 + 1.602051

c
d
u
a
b
c
d
U
a
b

—10.05940 + 8.651151

—17.7857 — 5.57891

u = —1.33508 — 0.612207
a= 0.115017 — 1.3580801
b= 0.360061 + 1.006500
¢ = —1.003500 + 0.2390811
d= 10.76197 — 1.602051

—10.05940 — 8.651151

—17.7857 + 5.57891
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IV.I} =W —u+.--+4d — 4, u'® —3u® + .- +4c— 2, —2u'% 4+ 20 +
s+ 4b+2, 200 —3u® + - +4a — 6, Ut — 200 + ... — 2u + 2)

(i) Arc colorings

o ()

ag =

>
N———

az =

as =

|

=
=
I+
LIt
<

Ne}

+ +
|

N |
<

[\v]

_l’_
[SJ[eY
~

Nl
i
o

\
w |
+ &
IS
~——

S
i
(=)
I
|
S i~
SIS
— =
o O
+ ++
DICO s 00

rof=
<

©
|

s
> ©
|
Al 1T
Q@ <
+ T+
IS
QM Qw
+
—
N[
N———

SIS
©e

ayp =

|l
o ol
o N~ 2
= ®
lm‘i‘ N[ |
ol Q\]w@w
+
I
i |
IS
[CIY)
+ +
N =
<
N——

—
[=)

ag =

=
o

ag =

S
[
—
Il
/—\/\/—\/\/—\/—"\/—\/—\/—\/—\/—\
N
—
o
S
oo
—_
+
ot
N
[ V)
\
[\CI[9N)
£
N—

g &
o
DO [ DO s | =
ISP

© ©
++ ++
+ +

IS

[

|
N——

NI = B0 =

(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u'® — 6u® — 2u” + 6uS + 4u® + Su* — 8u® — 10u? + Su — 16
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,€3,C4 ult — 2010 — 40® + 8uf 4+ 6u” — 8ub — Tu® — 2ut + Tud + 3w —u+1
Ce6, C7, Co
Co,C8 w2010 — 0 — 308 + 0" + 208 + 4w’ + 11wt + 9P+ — 2u—2
C5,C10, C11 u = 3u” — 208 + 307 + 4u8 — 20t — w4+ 3u? — 4

19



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,Cq4 y11_12y10_~_.“_5y_1
Ce6, C7, Co
o, C8 y11_6y10++8y_4
Cs5,C10, C11 y11 —6y10+~~-+24y—16

20



Solutions to Ij

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

—0.217339 4 1.1168601
—0.959694 — 0.1216091
1.379210 + 0.1033811
0.142356 + 1.2072001
0.344399 — 1.0454101

U
a
b

—6.49548 — 2.418921

—16.9282 + 2.88951

—0.217339 — 1.1168601
= —0.959694 + 0.1216091
1.379210 — 0.1033811
0.142356 — 1.2072001
0.344399 + 1.0454101

—6.49548 + 2.418921

—16.9282 — 2.88951

1.116820 + 0.4049511
0.142488 — 1.0957101
0.399448 4 0.7898471
—0.542743 — 0.5104321
0.602844 — 1.1660201

—3.96110 — 4.697421

—14.9188 + 5.88321

1.116820 — 0.4049511
0.142488 4+ 1.0957101
0.399448 — 0.7898471
—0.542743 4 0.5104321
0.602844 + 1.1660201

—3.96110 + 4.697421

—14.9188 — 5.88321

0.323694 + 0.5835101
1.18678 — 0.806971
—0.172742 + 0.3625561
—0.349546 — 0.4899451

0.855030 + 0.4312881

—1.55892 + 0.741961

—8.46073 — 1.119091

0.323694 — 0.5835101
1.18678 + 0.806971
—0.172742 — 0.3625561
¢ = —0.349546 + 0.4899451
d=0.855030 — 0.4312881

c
d
U
a

b

¢

d
U
a

b

c
d
U
a

b
c
d
U
a

b
c
d
U
a

b

—1.55892 — 0.741961

—8.46073 + 1.119091
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Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u= 1.38823+ 0.367431
a = —0.243517 + 0.7797381
b= —1.50982 — 0.175651
c= 1.047690 — 0.1507691
d = —0.624556 + 0.9929771

—11.90560 — 2.584511

—20.1919 + 1.01661

u= 1.38823 —0.367431

a = —0.243517 — 0.7797381

b= —1.50982 + 0.175651
1.047690 + 0.1507691

—0.624556 — 0.9929771

—11.90560 + 2.584511

—20.1919 — 1.01661

= —0.552641
= —0.218260
0.780044
1.41149

0.120619

—4.41605

—21.4290

—1.33508 + 0.612201
= —0.016930 — 1.2077301
—1.48612 + 0.295151
¢ = —1.003500 — 0.2390811
d 0.76197 + 1.602051

c
d
u
a
b
c
d
U
a
b

—10.05940 + 8.651151

—17.7857 — 5.57891

u = —1.33508 — 0.612207
a = —0.016930 + 1.2077301
b= —1.48612 — 0.295151
¢ = —1.003500 + 0.2390811
d= 10.76197 — 1.602051

—10.05940 — 8.651151

—17.7857 + 5.57891
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V. I;L =
(—a’c—ca+d—a—1, —a?c+c*—ca—a—1, a®+b+a, a®*+2a%>+a+1, u+1)

(i) Arc colorings

e ()

w= (%)
o ()
= (L)
o= ()
o= (werarras)
_(ca+a +c+a+1>
= ()
o ()
- ( ac—ca—a—1>
e (a ccacal)

—a’c—ca—c—a—1
ag = —C

(ii) Obstruction class = —1

(iii) Cusp Shapes = —18
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,€3,C4
3 2
Cs, Cg, C7 (u _u_]-)
C9, 10, C11
6
Co, Cg (u — 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,€3,C4
3 2 2
Cs, Cg, C7 (y _2y +y_1)
C9, 10, C11
C2,C8 (y—1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¢

V=1(vol + y/=1C)

Cusp shape

SO ST
[ | T

—1.00000

—0.122561 + 0.7448621
0.662359 — 0.5622801
0.662359 + 0.5622801
0.122561 + 0.7448621

—4.93480

—18.0000

—1.00000

= —0.122561 + 0.7448621

0.662359 — 0.5622801
—1.32472
1.75488

—4.93480

—18.0000

—1.00000

—0.122561 — 0.7448621
0.662359 + 0.5622801
0.662359 — 0.5622801
0.122561 — 0.7448621

—4.93480

—18.0000

> Q@ Bl 0 o8 g0 o9 g0
I T I

—1.00000
—0.122561 — 0.7448621
0.662359 + 0.5622801
—1.32472
1.75488

—4.93480

—18.0000

—1.00000

—1.75488

—1.32472
0.662359 + 0.5622801
0.122561 + 0.7448621

—4.93480

—18.0000

—1.00000

—1.75488

—1.32472
0.662359 — 0.5622801
0.122561 — 0.7448621

—4.93480

—18.0000
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VL I? =(a,d, c+1,b—1, v+ 1)

(i) Arc colorings

= (o)

ag —
az =

as =

a; =
a7 =
ag =

aeg =
(ii) Obstruction class =1

(iii) Cusp Shapes = —12

27



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C5 u—1
C2,Ce, C7 U
s, Co
€3, C4,C10 u+1
C11
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossin
y y
C1,C3,C4 y—1
C5,C10, C11
C2,Ce, C7 y
Cg,Cy
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0
b= 1.00000 —3.28987 —12.0000
¢ = —1.00000
d= 0
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VII. I ={(c,d+1, b, a—1, v+ 1)

(i) Arc colorings

= (o)

ag —
az =

as =

a; =
a7 =
ag =

aeg =
(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3 "
C4,C8
Cs, Cg u+1
C6, C7,C10 w—1
C11
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 Yy
C4,C8
C5,Ce, C7 y—1
€9, €10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to IY V—1(vol +/=1CS) Cusp shape
v = —1.00000
a = 1.00000
b= —3.28987 —12.0000
c=
d = —1.00000
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VIIL. I} = (a, d+1, c+a, b—1, v+ 1)

(i) Arc colorings

= (o)

ag —
az =

as =

ay; =
a7 =
ag =

ag =
(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C6,C7 u—1
C2,Cs5,Cg U
€10, C11
€3, C4, Co u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y— 1
Ce6, C7, Co
C2,Cs5, Cg y
€10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0
b= 1.00000 —3.28987 —12.0000
c= 0
d = —1.00000

38



IX. I} =(a,da—c+1,dv—1, cv —a—v, b—1)

(i) Arc colorings

= (o)

o )
o ()
o ()
w-= (o)
on=(2)
o=t )
o= (1)
w= ()
——
)
)
(ii) Obstruction class = —1

(iii) Cusp Shapes = d* + v? — 20

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to I} | v/—1(vol ++/—1CS) Cusp shape
/l) = e e .
a = ---
b= —4.93480 —21.2841 4 0.02281
c=
d =
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X. u-Polynomials

2u — 2)3

Crossings u-Polynomials at each crossing
u(u —1)*(u® —u—1)2
€1, 6, C7 c(u® —u” = 5l 4 40 + 8ut — 3u® — 3u® — du — 1)
(ull—Su —2u® + 3u” + 4u® — 2u* — ud + 3u® —4)
(utt - —4u® + 8ud + 6u” — 8u® — Tu® — 2ut 4+ Tud + 3u? —u + 1)?
C2, Ca ud(u—1)5(u® +u” —u® — 5u° — dut + 8u? — 4u — 4)
(w420 = = 3u® o+ 208 4 1t 49U+ u® -
u(u + 1)2(u3 —u—1)?
€3,C4,C9 (u® =" — 5 4 4ud + 8ut — 3ud — 3u® — 4u — 1)
S(ut = 3u® — 2u® 4+ 3u” + 40 — 2ut —ud + 3u® —4)
(utt =20t — 40 + 8u® 4 6u” — 8u® — Tu® — 2ut + T + 3u? — u +1)?
u(u — )u—i—l)(u —u—1)32
€5, €10, €11 (u® =" — 5 4 4ud + 8ut — 3ud — 3u® — 4u —1)

—8uS

— U

S(utt = 3u® — 2u® 4 30" + 40’ — 2ut — P+ 3u? —4)

10— 40® + 8u® + 6u” —ut + u?

+ 3u?

—u+1)°
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XI. Riley Polynomials

Crossings Riley Polynomials at each crossing
DAy (y -1y -2 +y - 1)
€5, C6, C7 (y® —11y7 + 49y5 — 108y° + 108y* — 15y — 31y% — 10y + 1)
Cg, C10, C
oot (" = 129" =5y = 1)) (Yt = 6y -+ 24y — 16)
C, s vy = 1D°(y° = 3y" + 3y° — y” — 96y° + 96y” — 80y + 16)

Sy = 6y 4 8y — 4)°
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